Converting Between ng, ug, mg and g (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o 1 1 — — e
) g s 5 §i 19 § 2 3 £
B S Z =2 wi: +o 8 E S S
: : : : ——— : : > X
G M k h da! !d ¢ m W n
9 8 7 6 5 4 3 2 1 0 : 2 -3 4 -5 -6 -7 -8 9
Convert 610 000 ng to mg

Convert 0.00000814 g to pug

Convert 0.07081 mg to ug

Convert 0.5418 ug to ng

Convert 0.7671 mg to ng

Convert 0.000000636 g to ng

Convert 8140mgto g

Convert 89 810 ng to ug

Convert 11 580 000 pug to mg

Convert 38 800 000 000ng to g
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Converting Between ng, ug, mg and g (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 610 000 ng to mg

610 000ng -~ 10+10+10+10-+10 =10 = 0.61 mg

Convert 0.00000814 g to ug

0.00000814gx 10X 10 X 10 X 10 X 10 X 10 = 8.14 ug

Convert 0.07081 mg to pg

0.07081 mg x 10 X 10 X 10 = 70.81 pg

Convert 0.5418 ug to ng

0.5418 ug X 10 X 10 X 10 = 541.8ng

Convert 0.7671 mg to ng

0.7671mg X 10 X 10 X 10 X 10 X 10 X 10 = 767 100 ng

Convert 0.000000636 g to ng

0.000000636g2 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 636 ng
Convert 8140mgto g

8140mg ~ 10~ 10 ~ 10 = 8.14¢

Convert 89 810 ng to ug

89 810ng ~ 10 +10 =+ 10 = 89.81 ug

Convert 11 580 000 pug to mg

11 580 000 ug =~ 10 =10 = 10 = 11 580 mg

Convert 38 800 000 000ng to g

38 800 000000ng ~10+-10+-10+-10+10+10+10+10+10 =38.8¢g
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Converting Between ng, ug, mg and g (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o 1 o
5 5 s 3 81 ig B E 3 2
& : € £ 8] I8 8 E : :
: : — : : : > X
G M k h dai (d ¢ m W n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 6 -7 8 9
Convert 990 000 ug to mg
Convert 0.00981 mg to ng
Convert 0.00081 mg to ng

Convert 18 600 ng to ug

Convert 0.7654 ug to ng

Convert 0.07254 g to mg

Convert 0.0000006512 g to ng

Convert 55 600 000 pug to mg

Convert 5710 000 ug to g

Convert 1 828 000 000 000ng to g

Math-Drills.com




Converting Between ng, ug, mg and g (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

1. Convert 990 000 ug to mg
990 000 ug - 10 - 10 + 10 = 990 mg
2. Convert 0.00981 mg to ng
0.00981 mg X 10 X 10 X 10 X 10 X 10 X 10 = 9810 ng
3. Convert 0.00081 mg to ng
0.00081 mg x 10 X 10 X 10 X 10 X 10 X 10 = 810 ng
4. Convert 18 600 ng to pg
18 600ng =~ 10 = 10 = 10 = 18.6 ug
5. Convert 0.7654 ug to ng
0.7654 ug X 10 X 10 X 10 = 765.4 ng
6. Convert 0.07254 g to mg
0.07254g X 10 X 10 X 10 = 72.54 mg
7. Convert 0.0000006512 g to ng
0.0000006512g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 651.2 ng
8. Convert 55 600 000 ug to mg
55600 000 ug =~ 10 =10 + 10 = 55 600 mg
9. Convert 5710000pugto g
5710000 ug ~-10+-10+-10+-10+-10+10=5.71¢g
10. Convert 1 828 000 000 000ngto g
1828 000 000000ng ~10+10+-10+-10+-10+10+10+10+10=1828¢g
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Converting Between ng, ug, mg and g (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
3] o ] 1 — — o o
< oD o 5 8 D 8 = 3} =
on ] —_— 1 ' — o
) g T 2 S: 15 8 E g g
: : —— : : > X
G M k h da 'd ¢ m 2 n
9 8 7 6 5 4 3 2 1 0 . 2 3 4 -5 6 -7 -8 -9
Convert 24 780 000 pg to g

Convert 5 310 000 ng to ug

Convert 0.00076 mg to ng

Convert 0.0000005187 g to ng

Convert 0.099 g to mg

Convert 5120 ug to mg

Convert 0.00976 mg to ng

Convert 7 304 000 ng to ug

Convert 8.2 mg to ug

Convert 48 900 000 000ng to g
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Converting Between ng, ug, mg and g (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 -6 -7 -8 -9
Convert 24 780 000 pg to g

24780000pug ~10+-10+10+-10+-10+10 = 24.78¢

Convert 5 310 000 ng to ug

5310000ng - 10 +-10 - 10 = 5310 ug

Convert 0.00076 mg to ng

0.00076 mg X 10 X 10 X 10 X 10 X 10 X 10 = 760 ng

Convert 0.0000005187 g to ng

0.0000005187g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 518.7 ng
Convert 0.099 g to mg

0.099 g X 10 X 10 X 10 = 99 mg

Convert 5120 ug to mg

5120 ug ~ 10 = 10 = 10 = 5.12mg

Convert 0.00976 mg to ng

0.00976 mg X 10 X 10 X 10 X 10 X 10 X 10 = 9760 ng

Convert 7 304 000 ng to ug

7304 000ng - 10 = 10 + 10 = 7304 ug

Convert 8.2 mg to ug

8.2mg X 10 X 10 X 10 = 8200 ug

Convert 48 900 000 000ng to g

48 900000000ng ~10+-10+-10+-10+-10+-10+-10+-10+10=4809¢g
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Converting Between ng, ug, mg and g (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 0.00000063 g to ug

Convert 87 200 ug to mg

Convert 0.041 g to mg

Convert 6 170 000 ng to ug

Convert 0.00000051 g to ng

Convert 1 810 000 ng to ug

Convert 0.00009596 mg to ng

Convert 0.0009756 mg to ng

Convert 595 900 000 000ngto g

Convert 340 000 pug to mg
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Converting Between ng, ug, mg and g (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

1. Convert 0.00000063 g to ug
0.00000063 g x 10 X 10 X 10 X 10 X 10 X 10 = 0.63 ug
2. Convert 87 200 ug to mg
87 200 ug = 10 = 10 = 10 = 87.2mg
3. Convert 0.041 g to mg
0.041gx 10 X 10 X 10 = 41 mg
4. Convert 6 170 000 ng to ug
6170 000ng ~ 10+ 10 +10=6170 ug
5. Convert 0.00000051 g to ng
0.00000051gx 10X 10X 10X 10 X 10 X 10 X 10 X 10 X 10 = 510 ng
6. Convert 1 810 000 ng to pg
1810000ng - 10 +10 =10 = 1810 ug
7. Convert 0.00009596 mg to ng
0.00009596 mg X 10 X 10 X 10 X 10 X 10 X 10 = 95.96 ng
8. Convert 0.0009756 mg to ng
0.0009756 mg X 10 X 10 X 10 X 10 X 10 X 10 = 975.6 ng
9. Convert 595 900 000 000ng to g
595900000 000ng ~10+-10+10+-10+-10+10+-10+10+10 =5959¢
10. Convert 340 000 ug to mg
340 000 pg ~ 10 = 10 =10 = 340 mg
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Converting Between ng, ug, mg and g (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
5 % e § gt ig E 2 :
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da: id ¢ m " n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 0.00000293 mg to ng

Convert 0.0000000303 g to ng

Convert 470 000 ng to mg

Convert 38 110 ug to mg

Convert 10 400 000 mg to g

Convert 0.00084 mg to pg

Convert 0.2927 ug to ng

Convert 1 853 000 ng to ug

Convert 39 910 000 000 ug to g

Convert 0.000000067 g to ng
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Converting Between ng, ug, mg and g (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
5 o 5 8 i3 §E g s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

Convert 0.00000293 mg to ng

0.00000293 mg X 10 X 10 X 10 X 10 X 10 X 10 = 2.93 ng

Convert 0.0000000303 g to ng

0.0000000303gx 10X 10X 10X 10 X 10 X 10 X 10 X 10 X 10 = 30.3ng
Convert 470 000 ng to mg

470000ng ~10+-10+-10+-10+10+10 = 047 mg

Convert 38 110 ug to mg

38110 ug ~ 10+ 10+ 10 = 38.11 mg

Convert 10 400 000 mg to g

10400 000mg ~10+10+10=10400g

Convert 0.00084 mg to pg

0.00084mg x 10 X 10 X 10 = 0.84 ug

Convert 0.2927 ug to ng

0.2927 ug X 10 X 10 X 10 = 292.7ng

Convert 1 853 000 ng to ug

1853000ng - 10+ 10 =10 = 1853 ug

Convert 39 910 000 000 ug to g

39910000000 ug ~10+-10+-10+10+10+10=39910¢g
Convert 0.000000067 g to ng

0.000000067g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 67ng
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Converting Between ng, ug, mg and g (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

g P c § g ig g = g 2

& £ T 2 81 1% 8 E E g

: : —— : : > X

G M k h dai (d ¢ m W n

9 8 7 6 5 4 3 2 0 ) 2 3 4 5 6 -7 -8 -9
Convert 84.99 ug to ng
Convert 680 700mg to g
Convert 0.0859 mg to ng

Convert 11 860 000 ng to mg

Convert 5.996 ug to ng

Convert 689 300 000 000 000ng to g

Convert 0.00005302 g to ng

Convert 238 600 000 ug to mg

Convert 0.0195 g to ug

Convert 82 000 ug to mg
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Converting Between ng, ug, mg and g (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
— < : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

1. Convert 84.99 ug to ng
84.99 ug X 10 X 10 X 10 = 84 990 ng
2. Convert 680 700mgto g
680 700mg = 10 +~ 10+ 10 = 680.7 g
3. Convert 0.0859 mg to ng
0.0859mg x 10 X 10 X 10 X 10 X 10 X 10 = 85 900 ng
4. Convert 11 860 000 ng to mg
11860 000ng ~10+10+10+10+ 10+ 10 = 11.86 mg
5. Convert 5.996 ug to ng
5.996 ug X 10 X 10 X 10 = 5996 ng
6. Convert 689 300 000 000 000ngto g
689 300 000 000000ng ~10+10+-10+-10+10+-10+10+-10+10=689300¢g
7. Convert 0.00005302 g to ng
0.00005302g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 53 020 ng
8. Convert 238 600 000 ug to mg
238 600 000 ug = 10 = 10 = 10 = 238 600 mg
9. Convert 0.0195g to ug
0.0195g X 10X 10X 10 X 10 X 10 X 10 = 19 500 pug
10. Convert 82 000 ug to mg
82000 ug +~10+10+10=82mg
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Converting Between ng, ug, mg and g (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o 1 1 — — e
& & e 5 81 18 BT B S £
B S Z =2 wi: +o 8 E S S
: : —— : : > X
G M k h da! !d ¢ m W n
9 8 7 6 5 4 3 2 1 0 . 2 3 4 -5 6 -7 -8 -9
Convert 0.00049 mg to ug

Convert 645 800 ug to mg

Convert 0.00000000062 g to ng

Convert 88 800 000 000 ng to mg

Convert 0.0000609 g to ng

Convert 0.734 ug to ng

Convert 0.00000429 g to ug

Convert 46 000 ng to ug

Convert 180 000 mg to g

Convert 8 492 000 000 ng to mg
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Converting Between ng, ug, mg and g (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 0.00049 mg to ug

0.00049 mg X 10 X 10 X 10 = 0.49 ug

Convert 645 800 ug to mg

645 800 ug ~ 10 =10 = 10 = 645.8 mg

Convert 0.00000000062 g to ng

0.00000000062g x 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 0.62 ng
Convert 88 800 000 000 ng to mg

88 800 000 000ng ~10+-10+10+10+ 10+ 10 = 88 800 mg
Convert 0.0000609 g to ng

0.0000609g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 60 900 ng
Convert 0.734 ug to ng

0.734 g X 10 X 10 X 10 = 734 ng

Convert 0.00000429 g to ug

0.00000429g X 10 X 10 X 10 X 10 X 10 X 10 = 4.29 ug

Convert 46 000 ng to ug

46 000ng ~10+10+10 =46 ug

Convert 180 000 mg to g

180000 mg +- 10 +-10+10=180g

Convert 8 492 000 000 ng to mg

8492 000000ng ~10+10+10+10+10 =10 = 8492 mg
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Converting Between ng, ug, mg and g (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 0.0000000086 g to ng

Convert 8.999 mg to ug

Convert 64 720 000 ng to mg

Convert 27 300 ng to ug

Convert 0.00003792 mg to ng

Convert 120 000 ug to g

Convert 46 120mgto g

Convert 36.3 mg to ug

Convert 0.00019 pg to ng

Convert 6 800 000 000 000ng to g
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Converting Between ng, ug, mg and g (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

Convert 0.0000000086 g to ng

0.0000000086g X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 8.6 ng
Convert 8.999 mg to ug

8.999 mg X 10 X 10 X 10 = 8999 pg

Convert 64 720 000 ng to mg

64 720000ng -~ 10 +10+10+10+10+ 10 = 64.72mg
Convert 27 300 ng to ug

27300ng ~-10+10+10 = 27.3 ug

Convert 0.00003792 mg to ng

0.00003792mg X 10 X 10 X 10 X 10 X 10 X 10 = 37.92ng
Convert 120000 ug to g

120000 pg ~+10+-10+-10+-10+-10+10=0.12¢g
Convert 46 120mgto g

46 120mg ~ 10 =~ 10 = 10 = 46.12 ¢

Convert 36.3 mg to ug

36.3mg X 10 X 10 X 10 = 36 300 ug

Convert 0.00019 pg to ng

0.00019 ug X 10 X 10 X 10 = 0.19ng

Convert 6 800 000 000 000ng to g
6 800 000 000 000ng ~10+10+10+10+10+10+10+10+10 =6800¢g
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Converting Between ng, ug, mg and g (1)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5, % < § g ig f = :
) g T 2 S: 15 8 E g g
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 950 800 000 ug to mg

Convert 0.000000099 g to ng

Convert 0.00000016 mg to ng

Convert 48.43 ug to ng

Convert 1 893 000 ug to mg

Convert 0.0000068 g to ug

Convert 56 380 ng to ug

Convert 56 950 000 ng to mg

Convert 0.00073 g to mg

Convert 2 700 000 000ng to g
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Converting Between ng, ug, mg and g (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
5 o 5 8 i3 §E g s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

Convert 950 800 000 ug to mg

950 800 000 ug =~ 10 =10 =10 = 950 800 mg

Convert 0.000000099 g to ng

0.000000099g x 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 99 ng
Convert 0.00000016 mg to ng

0.00000016 mg X 10 X 10 X 10 X 10 X 10 X 10 = 0.16 ng

Convert 48.43 ug to ng

48.43 ug X 10 X 10 X 10 = 48 430 ng

Convert 1 893 000 pug to mg

1893000 ug ~ 10 +10 =~ 10 = 1893 mg

Convert 0.0000068 g to ug

0.0000068 g X 10 X 10 X 10 X 10 X 10 X 10 = 6.8 ug

Convert 56 380 ng to ug

56 380ng ~ 10 = 10 = 10 = 56.38 ug

Convert 56 950 000 ng to mg

56950000ng -10+10+10+10-+ 10 +10 = 56.95mg

Convert 0.00073 g to mg

0.00073 g X 10 X 10 X 10 = 0.73 mg

Convert 2 700 000 000ng to g
2700000000ng+-10+-10+-10+-10+-10+-10+-10+10+10=2.7¢
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Converting Between ng, ug, mg and g (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 0.0000099 mg to ng

Convert 1.42 mg to ug

Convert 3 890 000 000ng to g

Convert 488.3 ug to ng

Convert 520 000mg to g

Convert 960 ng to ug

Convert 0.00000008043 g to ng

Convert 42.7 mg to ug

Convert 620 000 ng to mg

Convert 4 717 000 000 ug to g
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Converting Between ng, ug, mg and g (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

Convert 0.0000099 mg to ng

0.0000099mg X 10 X 10 X 10 X 10 X 10 X 10 = 9.9ng

Convert 1.42 mg to ug

1.42mg X 10 X 10 X 10 = 1420 ug

Convert 3 890 000 000ng to g

3890000000ng ~10+-10+-10+-10+10+-10+10+-10+10=3.89g
Convert 488.3 ug to ng

488.3 ug X 10 X 10 X 10 = 488 300 ng

Convert 520 000mg to g

520000mg - 10+10+10 =520¢g

Convert 960 ng to ug

960ng ~10+10+10 =0.96 ug

Convert 0.00000008043 g to ng

0.00000008043 g x 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 X 10 = 80.43 ng
Convert 42.7 mg to ug

42.7mg X 10 X 10 X 10 = 42 700 ug

Convert 620 000 ng to mg

620000ng ~-10+-10+10+10+10 =+ 10 = 0.62mg

Convert 4 717 000 000 ug to g

4717000000 ug ~10+10+10+10+10+10=4717g
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